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Canon | R .
Operation Display Contonta Explanation
BI#ES 5
Scientific Calculator 0@ 123. 0| 123%A% 1 Enter 123
M 123. 123 | 123%0iE | Store 123
(8 M 456. 579 | 456%EM 1 Add 456
1
Calculation E3 '
E-IM-3328 Examples 2 M 789. 579 | 789%AH " Enter 789
1
= - n = ' Replace memory
EHEULFEL&S / GETTING STARTED M 789. 789 | xEVOBEEETAR | [HEC
: M o 789 | ®moUT ! Clear displ
#EA HF— / Numeric Entry Keys RTIU7 | Clear display
XM 0. 0| XEVUSU7 1+ Cl
5l : / Example : ' Clear memory
& / Value %{F / Operation ]i% / Display |  $ll : ZEIXEUZER / Example : Using the memory variable
12345 () R&oTc AF1 / incorrect entry 124. BE / ®F/ | XEUAE/ —
> 12. Operation Display &?{t’:‘% Explanation
B 2%  mpEEE 36. 0 | mEEAn | Enter value
E_Fﬁm*_ / Mode Selection Keys (ST % :]A 36. 36 | HIEEZHANEN , ?;?i;eb\l/:kje to
HHEE—RZIEREULET . / To specify the calculation mode: !
1. HBiEZEAS 1 Enter value
#l : / Example : LEHBEE 5 0 :
Bt / K/ s -5/ | &S 51. 51 | MEEZHMCNENM | AR
Operation Mode Display Indicator 0 A=36 | =qmsuT 1 Clear display
o . GR \
R R S . c=51 i
& D:] 10&E8&E (49— E—R : Decimal Calculation (Degree) Mode D R 36 36 REUDNSEARIED : Recall the contents
S REN | otmEE R ! Binary Calculation Mode BIN = ’ HU | of variable A
E T | gimEE—R 1 Octal Calculation Mode ocT — 51. 51 | XEUDSEHMCEIRD | Recal the conterts
1 1 ofvariable
E O pigmEE—R ! Hexadecimal Calculation Mode HEX L .
(SHA 1= N ! isti i - .
5 B | MEEEE—N 1 Statistical Caleulation Mode STAT 2itt / 8 / 16 ##F— / Binary / Octal / Hexadecimal Number Keys
FE | gmmsEE—R 1 Complex Number Calculation Mode CPLX Bl : / Example :
FRINE—R+F— / Display Mode Keys : #fiE / Value {%{E / Operation T / Display
$ll : / Example : (SR b HEX (HEX.)
1%{F / Operation| iR / Display KA / Explanation AB7C A :s] = Ab7C£
G .
0. SFENBmE—R | Floating Mode
120 ! EFREETHE / Complex Number Calculation
W0 E= 1230. \ @l : / Example :
=) 1.0303 BIRIEHTE—N 1 Scientific Exponential Mode
1.0303 TEEME—R : Engineering Exponential (i / Value 1R{F / Operation &R / Display
1 Mode o (CPLX)
B 1230.° ! =
. | (12-3)-@+7) | [ @0E =@ ® G
[E) 1230000. ! _s-10 | (@) )
S 4ENG 00 s . 1 Reverse Engineering - B 8.
&85 1230. DETFEYER ' Exponential @) -10.
INAEIRF— . 59 REIH / Decimal Point Selection Key , Rounding function : 6-7)x(-8+9) | (6] (@) O @ =)
$ll : / Example : =15 +110i @) @ @E‘ 15.
%(€ / Operation T / Display 588 / Explanation 53 110.
(S FIX - ! ;
[ N | 0.00000 | /\#2E51u ! 5 decimal places —
B @ : n EETEEEHE / BASE Calculation Range
B 123456789.0 | 20HEEE / Two’s Complement Calculation:
. ' \ L .
OO0 mE 123456.7890"" ' il : 2ED1EANL. 123EFEELFT . / Example : Enter 1in binary and subtract 1 three times.
=& (0 1234572 | I1\#EE0NRT I 0 decimal places %€ / Operation T / Display 1052Y / Decimal
(sHiFT ) FIX 1
SHIFT 1
o —] 123456.789 | /\#fitUtwhk 1+ Reset decimal places ON) (swr) P BIN BIN 0.
— = : ' (o (BIN)
i 123457. | /JEEEOf1 | 0 decimal places () 1. 1
(SHIFT ) ROUND 1
& 123457.% - 00E 0. 0
(SR FIX E] H
e i ) 123457. ' (=) 1111111111, 1
" BFREFCTRRENET. COBA. IBESMMEESNTVET A = o, -2
L1 O DHFDRRENE T NS HIFRRENE B Ao
2 RRSNIHBI BESNICEERNTYID LIFSNE T fefZL. D5 4= it :
AEN e gty ﬁ;‘l‘ﬂ'ﬁ / Statistical Calculations
"3 BRI NI F ORI DR B LE T . Bl : / Example :
IEX *1 The number is displayed with left justification. In this case, 5 decimal %€ / Operation | R / Display £HBA / Explanation
places are specified, but only the 10 most significant digits are displayed. L R |
The 5th decimal place is not displayed. == (STAT) 0.| MEEHEE-R ! Statistic mode
*2 The displayed value is rounded up within the specified range, but the actual @ 10.| 10%ZAH | Enter 10
calculation result is retained in the register. %ﬂl 1.| F—=51%8AH | Data 1 entry
*3 Round the value to the specified number of decimal places. [ 20.| 20%AH E Enter 20
o F—52% A ' Data 2 enti
e O . . 2.| T ry
BAXEEs — / Basic Calculation Keys Bate |
FRAMTF y © 30.| 30%AHN \ Enter 30
Bl : / Example : — 3.| F—53%7AAH ' Data 3 entry
#E / Value {%{E / Operation R / Display ) 40.| 40&AS ' Enter 40
(— =_ '
2x@+=14| 2@ O EH OO E u | B 4| 7-FaEAnDaldeny
_ 50.| B50%ZEAH ' Enter 50
;)J;[(()‘.l8 -Sé?: o 5. S| O @ & 5.| F—55%AN | Data 5 entry
9x08-8x | H ) (@06 DH @ : |
2 =-6. II] E] _6.056 P} 30.| xDFH ' Mean of x
_ - - n:] 5. | F—sEae ! gg?lpn:mber of data
SHETEF— / Fraction Calculation Keys: i 158113883, | xDEAIEEEE ! Sample Standard
@l : / Example : e : : " 1 Deviation of x
— — i i s 150.| xD#EH ! Summation of x
2R / Value 18{E / Operation iR / Display A 5500.| fBOTHI ! Sum of Square of the value
z ol &8 14.14213562. | xDBEEREE 1 Population of Standard
2, ) fnx 10.| B/ME | The min data
2.8 e 50.| B®AfE | The max data
2 M 1. et —o DiENN. HIF: / Add, Delete Statistical Data
B @ 1
- R & 5 O FEALET,
da.
2) 22| Em e e
G 10245 Bl : #i5t>—5 %8N / Example : Add Statistical data :
o 5 - - ${E / Operation |ZRR / Display 5iBA / Explanation
1 13 +4 528U ERE/NSICTIRLE T, / ) stz :
(STAT) BEHEHE TR [
Example : Calculate 1 % +4 5 and convert the result to a decimal fraction. o= 0. | BEHETEE—R ! Statistic mode
- = @ 10. | 10ZAH 1 Enter 10
2{E / Operation R / Display - 1 | F—m1m25 ! Data 1 entry
@ 1u2.3. ©) 20. | 20%AS  Enter20
@ E] 6u1a2. %’] 2. | F—moEAN E Data 2 entry
6.5 - 3. | 7—53%&AH ! Data 3 entry
6u1a2.

FHAY . (RPBEIRF— / Mixed , Improper Fraction Conversion Key:

- % ZEANUHEDHICEIRUE S, / Example : Enter Jéland convert it to a mixed fraction.

1%#{E / Operation

ELARZ]
{— N e

OO @ @&
=

T / Display
10.3.
3u148.
10.3.

AXEUF— / Memory Keys
il : I AEUZER / Example : Using the independent Memory

FY I/ =5F4 00 IvIN\IHEH

T108-8011

RREEBXERE2—-16—-6 BHEVEDE% : FES 1)L 0570-04-0025
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Bl : #iEtT—57%HlkR / Example :

Delete Statistical data :

$2{E / Operation | &R / Display $%BA / Explanation
= (STAT) 0. | HEtEEE—R : Statistic mode
m @ 10. | 10ZAA ! Enter 10

oo 1. | T=¥1%ZAhH | Data 1 entry
(© 20. | 20EAH | Enter20

oo 2. | T—52%AH ! Data 2 entry
@ @ 30. | 30%ZAAN E Enter 30

Soe 3. | F—#3%AH ! Data 3 entry
@ 40. | 40ZAH | Enter 40

S 4. | T=54%AN E Data 4 entry
@ @ %} 3. | F—53%=HlkR | Delete data 3
@ % 70. | xO#SFD E Summation of x

FHEEEERO 7 IR Y / Output of Statistical Calculation Results

FIRIvh / B/ HiER /
Output Operation Equation
F—IERE 1 Number of data sample . -
XD i Mean of x :‘c:] X=i§1X|/n
omsmeas | e |4 | [F e
!
y I )

osmems | roumemos | 5 8 | oo [T i
ZHEDEY i Variance of sample & vi= é1 xi—=X)2/(n-1)
SRS it = vi=£,0d-0%/n
XODESHN E Summation of x &8 | =x
SEAFD E Sum of Square rg\ [%‘11 >x2

¥RSTETEEBIRE / Statistical Calculation Examples

EYZE20INEVELZ. U U RORDKSICEY DERNE XS T st
BHRZESELTIZE W,

m You bought 20 pieces of pizza. However, the diameter of each pizza is varied as shown in
the following table. Please calculate the statistic based on this information.

E{X / Diameter fgsR / Midpoint E# / Frequency
276 ~ 285 28 2
28.6 ~ 295 29 4
29.6 ~ 305 30 5
306 ~ 315 31 6
316 ~ 325 32 3 (¥A%£20 /20 in total)
$2(E / Operation KT / Display 5484 / Explanation
% m:]n STAD) 0. | metstEE—R E Statistic mode
SHFT) FIX 4 e g | Decimal digit
[ -] 0.0000 | /\EHRIDIETE | specification
2.0000 | BEHDEE 1 Give the sum of
: frequency
6.0000 !
- i
(0) Bem 11.0000 :
BOXE 17.0000 :
— '
befa 20.0000 !
n = N \ Total number of data
= 200000 | F—yiEARE 0 oon
= 30.2000 | x(DIY | Mean of x
1
o % 604.0000 | x(DHAFN | Summation of x
) (23 :
[ 18270.0000 | {EDFEAF] 1 Sum of Square of the value
N T | Sample standard
— 12397 | xDIZAMZEERE ! deviation of x
sarm) ol a5 | Population of standard
(o — 12083 | xDBHREERE 1 i

;BEfl / CALCULATION EXAMPLES

1. 10&8E (F14JY—E—R) / Decimal Calculations (Degree mode)
#EAE—RERRE : / Initial mode setting :

STEE—R / Calculation Mode: 1035 42U—E—R / Decimal Degree Mode
o L, B) PERENBET 22 ABLTREL.

KKE—NR / Display Mode:
J)\#51 / Decimal Point:

SHIFT ) P DEC DRG)
Press 5 ' and then press —

728)/)\$ = E—R / Floating Mode
Utzwh / Resetting

until () is displayed.

=50 o
Bl / Example | 2{F / Operation R / Display
fNE . JEIE / Addition and Subtraction
8+3+55=16.5 EEHEAEHEEHEE 16.5
4-7-3=-6 WLWEOLBE -6.
Z|E . BRE / Multiplication and Division
36x17=6.12 XN ODEOLOE 6.12
592+ 4.8 = OB OEE 1233333333
MEISEAETE / Mixed Calculations
3+5x7=38 AHEHxNOE 38
6x9+3+2=555 OXNOEHEEHEE 55.5
8HUETE / Exponential Calculations
@21x10x 65x10%) | (3] (2) () fpd (D (4] @ (x] (&) (8
= 2.0865 x 10" = 2.0865'5
#IETE / Fractional Calculations
2,54 5_o8 =)
3 7 47 %84 E' 21,8384,
Gr2dx2i2-1-- & | (DE)ED(E) (e)
P DOENR@REEHREDE| 82
TEHETE / Constant Calculations
2+3=5 = 5.
4+3=7 B 7
1=2=-1 (NS = 1.
2-2=0 = 0.
3x2=6 = 6.
3x4=12 = 12,
5:3=2 0 E6EGE >
9:+3=3 @ E] 3.
$EI{TETE / Parentheses Calculations
3+[(4-3.6+5)x AHOOHE
0.8-6]x4.2= —4.056 E]E]El
HEE —4.056
B9EEtE / Percentage Calculations
200 x 17% = 34 ARSI 34,
7og X 100 = 57.79467681% = &S & 5779467681
TEZEETHE / Constant Percentage Calculations
12% x 1200 = 144 OEE5XOU@@O0OE 144,
12% x 1500 = 180 MOELOOE 180.
765  100% = D %
987 7 7
ST s OEEH® & B[E) | 77.50750878
ooy X 100% = OBEHE 66.26139818
66.26139818%
ZEEHE / Add-On (Mark Up) Calculation
200 + (200 X 20%) = 240 (@) (0] (o) T &, 240.




#ll / Example | %€ / Operation

T / Display

§il / Example

%{E / Operation

KT / Display

T
SEEtE / Square Calculations :

1.25%= 1.5625 0® 1.5625
II755HE / Cubic Calculations : £
5.43° = 160.103007 G E =5 3 160.103007

SEEETE / Power Calculations :

UOxEE

2.115 = 41.82272021

41.82272021

TEFERETE / Constant Power Calculations : (37)

228 = 5,063026376

2 = 5.063026376
32 = 13.07566351 = 13.07566351
4234 = 2563423608 E] 25.63423608
B / Extraction of Square Root :
J(6+6) x 7 = 8774984387 | (D (5) (1] (6] (D = 8.774964387
A% / Multiple Root : &%)
53/100 = 2.384286779 OO0 ®=%E0E = 2.384286779

EHV—NETE / Constant Multiple Root Calculations : %

il / Example | 1%{E / Operation T / Display
T
2|5 |5+& / Discount Calculation
200 — (200 x 20%) = 160 | 0000 &L E 160.
XEUETE / Memory Calculations
§il / Example %{E / Operation T / Display
I AXEVUETE / Independent Memory Calculation
0.
20 x 30 = 600 EO0XEEOEM M 600.
40 x 50 = 2000 DO GEWOE M M 2000.
+) 15x20= 300 MG xR 0)E) M M 300.
2900 M 2900.
-) 125 x40 =-5000 m@@@(‘:} M 5000.
~2100 M —2100.
0.
ZHAEYUSTE / Memory Variable Calculation
9x6+3=57 OHEHEE &S 57.
X)  5x8=40 HNEE®® S 40.
A3 57.
HE S 40.
2,280 = 2280.
2. 2if . 8ift . 16i£iEH / Binary, Octal , Hexadecimal Calculations
2iEEE / Binary Calculations
Bl / Example | 2{E / Operation T / Display
T
HNE - FE / Addition and Subtraction (BIN) : ) PN
10101011 + 1100 + O0O0OOOOHT
1110 = 11000101 DO0EOOOODE 11000101.
11100011 - OOOPOEOOOHE
10101100 = 110111 OO0 0O E = 110111.
Z=HE - BRE / Multiplication and Division (BIN) :
111001 = 11011 OO GOHE 1011,
1101110 = 1010 = 1011 OO0OOOOOO0OEOO
0O 1011.

5/1024 =4 [I]@W:"]\%E]
5/3125=5 B0EEE

3/7776 =6 @E]
MO / Geometric Mean : %

1.673830182

G=+fizaxiasxigexzz | (I (] xMmE]
= 1.673830182 OOEE B
o
= EEE
B3I / Extraction of Cubic Root : E

SiEiEE / Octal Calculations

3/123 =4.973189833 m B 5 4.973189833
EEHE / Reciprocal Calculations :

; "
Faea =01 AHBEBNEWUEES 0.1

=F%EtE / Trigonometric Calculations : %
cosec x = 1/sin x

[DEG mode] (4) (5) (i) &5 &5

1.414213562

_t
Ve=Vi(1-e HC)
__56x10°
= 100x(1 _e’1sooxsox|o«s)

=52.60562649
EF
o

OO0 xxOOEZ@A
00 ®E0ME @
HEOMEE D=5

52.60562649

mE

X&) / Algebra:

ZRATEN DR (REFRE R DORBEICIRD.)

IEf The Root of a Quadratic Equation (Only for problems having a real root)

1l / Example %€ / Operation K / Display
4x2+9x+2=0 OE@mEHONEEEE
x M 49.
— —b+4b’-4ac _
S 00O H®EPDOEE
794;492273x4x2 = = M _p.25
X_{_o_gs @@E]E]El@ "
"2 BEE 2

BSRIDETE / Calculation of time :
BIRE1 : / Example 1:

MZHD RN 2097565 (2

‘09'56") T, ElIiEMZIH'4; 1877237

(4°18'23") THBHEETDBEIRFEIL?
IET The air flight departs at 2 o'clock 9 minutes and 56 seconds (2°09'56"), and

arrives at 4 o'clock 18 minutes and

23 seconds (4°18'23"). What is the travel

time ?

Bl / Example %€ / Operation T / Display
4°18'28” - 2°09'56” = o GBIl
2027 Elulolzlblolze) —

fIRE2 : / Example 2:

Wi, SEMDEBMISEETLCVET . A5 EERIE?

IEX} The following shows the amount of time worked in three days. What was the total time?

1HE : SEE4645 / 1stday : 5 hours 46 minutes
2HE : 4858399 / 2nd day : 4 hours 39 minutes
3HE : 3559 / 3rdday : 3 hours 55 minutes

(5°46")
(4°39)
(355"

@l / Example

$2(E / Operation

T / Display

5°46’ + 4°39’ + 3°55’
=14°20’

BedE @@ @ e B
BeHEEEBEEIE

14°20°0”

5. BE#MEB KUFEE / Operation Range and Accuracy

JP i G
E3 HRE 10#7ET £1

ASEEE : 0=IxI£9.999999999 x 109

1 x 10%°H'5 +£9.999999999 x 10%°

HOER
IEM Internal digits : 14
Accuracy * : £1 at the 10" digits

Input Ranges : 0</xI£9.999999999 x 10%°
Output Ranges : 1 x 10°®° to +9.999999999 x 10%°

#ll / Example | %€ / Operation R / Display
T

HNE - jFE / Addition and Subtraction (OCT) : piaesy
654 + 321 = 1175 BEUEHBEROE 1175.
741 — 357 = 362 OHOEEEODE 362.
3|E - BRE / Multiplication and Division (OCT) :
56 x 23 = 1552 BEx@2EE 1552.
621+12 =50 Q0O E 50.
MAE&ETE / Mixed Calculations (OCT) :
52+63x14=1216 HHEENODMEE 1216.

16iEi@E / Hexadecimal Calculations

#ll / Example

%€ / Operation

T / Display

|
HN& - B / Addition and Subtraction (HEX) : )
AAA + BB + C = B71 SSASHSSHSE b71.
DEF - EFE = FFFFFFFEF1 | 8 £ (55 S5 FFFFFFFEF1.
Z=H - BRE / Multiplication and Division (HEX) :
FEDC x A9 = A83F3C S SHSEE A83F3C.
CA11+DF =E7 SaolESSE E7.
MBE&ETE / Mixed Calculations (HEX) :
(AB+9)xD=+F=9C :AN:JB@@:E}’E]:?E] 9C.

3. BXEIMETE / Basic Function Calculations
T B3%% / Pi Function : &

§il / Example

$%{E / Operation

T / Display

T x10

BHEFEAOOE

31.41592654

=AY . ¥=/ERIE / Trigonometric Functions , Inverse Trigonometric Functions :

Bl / Example

%€ / Operation

KT / Display

sin53 = 0.79863551

cos £ = 0.866025403
"~ o,
tanB5670 = 1.631851687

sin' 0.3 = 17.45760312°
cos™ 0.8 = 36.86989765°

tan™ 1.5 = 56.30993247°

W=FRE%Y / Inverse Trigonometric Functions :

=R / Trigonometric Functions : (sin)

[DEG mode] (5] (3] (sin)
[RAD mode] &' 5 (5] (&) (=)
[GRAD mode] (] (5)

sin?  cos™ tan?
 — w— ]

[DEG mode] () LA
.
[DEG mode] (-] (8] E &

[DEG mode] (1] (4] (5) &5

0.79863551
0.866025403
1.631851687

17.45760312

36.86989765

56.30993247

FHEARREN | MBS | EEEE /

Logarithmic Functions , Logarithmic Mean , Exponential Functions:

§il / Example

$%{F / Operation

T / Display

FEAEIEL / Logarithmic Functions :

log123 = 2.089905111 () 2.089905111
In123 = 4.812184355 D) ) 4812184355
S / Logarithmic Mean :
L=4=8 =~ 5770780164 | (O (4] (=) (&) D (=) (O[] ()

OB @mmME 5770780164
= : : . X X
$544B341 / Exponential Functions : o e
e% = 3584912846 mm & 3584912846
1029 = 1995262315 OR®™ 5 1995262315

cosec 45° = 1.414213562 BE% / AN/
Function Input
= DEG 0=x/<4.5x10"°
1= =. : ; 7
PESREHE / Factorial Calculations : #5 sin x RAD 0<|x|<785398163.3
(4x2-3)1=120 = =38 120. GRAD | 0<Ixi<5x10"
DEG 0=x|<4.5x10"
. . RAD 0=/x|<785398163.3
WEHRES%EL / Hyperbolic Functions : (hyp) cos X |
GRAD | 0=|x<5x10"
cosh34 =2.917308713 x 10 @ 2.9173087131 DEG [xl=90(2n-1) DEEZERVT, sinx LAL / Same as sinx except [x/=90 (2n-1)
=m2(2n-1) D EEZEFRNT, sinx EAL / Same as sinx except [x|=7t/2(2n-1)
tanh1.23 = 0.842579325 3] (oy) tan 0.842579325 tan RAD | =T i
m El @ GRAD [x=100(@2n-1)D & EZBRT, sinx EEL /| Same as sinx except [x/=100 (2n-1)
sin"'x,cos'x | 0=[x[£1
BAEHEAIZIR / Angle Unit Conversion - . —
tan"'x,tanh x | 0=IX[<1x10
il / Example | {R{E / Operation T / Display sinhx. 0<IX/<230.2585002
R ] ] ] coshx X=0DEFE, sinh & tanh I$, BRRE T TR TS —[CFDAREMNE D BEICHELET,
F4OU—— SIFPUZH / Degree—> Radian Conversion : When x=0, sinh and tanh, being in some condition, will have more possibility of error, and influence accuracy.
60° = 1.04719755170 [DEG mode] (&) (0] & 2% 1.047197551 sinh-Tx 0<Ix/<5x10%
cosh™'x 1< x <5x10%
=y M o ) ) ) DRGH tanh™x 0<x/<9.999999999x10°"
SI7Y — JU—RZHa / Radian — Gradient Conversion : &= nx.logx | o<x<x10™
2RAD = 127.323954567A0 [RAD mode] (2) T 2 127.3239545 10% ~1x10"< x < 99.99999999
e —1x10"° < x < 230.2585092
“ - J— " . . <x< 100
JU—R = F4J—ZH / Gradient — Degree Conversion : 22 f O;T‘ 1x10 —
X 0<Ix/ < 1x10
GRAD — (sAFT) DRGP
1205740 = 108 [GRAD mode] (1] (2] (0] 7% 22 108. x! X109 <Ix < 1x10'®, x0
8/ 0<[x/ < 1x10"%
&% . $8dH&HE / Permutations , Combinations X! 0=X<69 ( x %4 / x is integer )
= . — . 3 0=<IxI£2.154434689x10%3
#ll / Example | 1%#{E / Operation T / Display X X
[ nPr . nCr 0=r=n=<9999999999 (r &£ n (1%%% / r and n are integer)
-~ - N . . \Pr ’
IE51 ( n BOEDHYS r BOEOEEEICRDEUIEE / Permutations (of n things taken r at a time) : ¢y R | result <1x10'
b N . -1x10"%< y « In|x| £230.2585092
s e = 5E 60. X x>0+~ LRROFH x<0-y EEOE (8. 1y (HEE y=0) - LEOFE  x=0--0<y
5P3 = ﬁ =60 e El x>0...The above range x<0...y (integer) or, 1/y (odd, y#0) ... The above range x=0...0<y
—1x10"°< 1/y « In|x| £ 230.2585092
1y e b5 6 | ey (2 - o b5 —=0---0<
. _ L X X cr X x>0--_FER D& x<0--y (FFRAFOE L. 1y (B y=0) LEDEE  x=00<y
BHEDE (nBOEONS r BOEDOEFREICERDELIEE / Combinations (of n things taken r at a time) : T x>0...The above range %<0...y (odd) or, 17y (integer, y=0) ... The above range  x=0...0<y
Co=— m nG R—P x| Iyl <1x107% (x2+y?)12<1x101%
ncr J (n5,r) 10 % r&] E] 10. (Xy—r0) | yx:tan'x LAL y/x:same as tan~'x
5Y3= 3i(5-3)!
P—-R 0=r<1x10'®
- . re —x, 0 :sinx. cosx&EL 0 :same as sinx, cosx
EEIZZEIR / Coordinates Conversion (r6—>xy)
- - — 0<Ix/<999999.9999
Bl / Example ! 1R{E / Operation &% / Display o1u D 999999.9999K DXENE I T =5 AL THENY (DMS) NERTEE A,
e When input >999999.9999 th It t rted to DMS by ) 218
B3 — 1822 / Rectangular — Polar Conversion : &P en e ¢ resuT can o converee =
4011 0=[x1£999999 59’
[DEG mode] (1] (@) @) DEG—RAD | 0<[x/<1x10"%
(saF) R=P =l
E] = 651 RAD—>GRAD | 0<[x|£1.570796326x10%
’ GRAD—DEG | 0=IX/<1x10'%
c +
% (x+y1i) ¥ (x@+y21)
=3 +
TR i . ReP °
8 — EXXZIR / Polar —Rectangular Conversion : B | T | gm0 Addtion, Subtraction | Ixt+xI<1x10™®  Iy1+y2I<1x10"%
*5 [
[DEG mode] (2) (@) (6] (0) &) S - (xTx2-y1y2) <1x10'%  (xTy2+y1x2)<1x10'®
2 E EH [ Muttiplication o
@ % 1 “u i (x1x2), (y1y2), (x1y2), (y1x2) <1x10
@ 1 7SZOSOSOé ;_'; X1x2+y1y2 y|x2—x1y2<1x10100
) £ . X2+ y2? X224 y2?
S FR3¥/ Division x22 + Y22, x22,y2?, x1x2+ y1y2, y1x2 — x1y2, x1x2,
y1y2, y1x2, x1y2 <1x10'%
DEC 7%, LITOREEE /| The following operation range after the conversion.
_ - 0</x|<9999999999
Easa / Degrees-Minutes-Seconds Calculations : ZHt%. LITOEEHE /| The following operation range after the conversion.
—BIN IED# / Positive : 0Sx<111111111  BD/ Negative : 1000000000 x 1111111111
il / Example | $#{E / Operation |ﬁ / Display (O2r2 egatve - ==
I [ —~ocT Zriig, LIFOEEHE /| The following operation range after the conversion.
B2 (DMS)— 10i7 15— / Degrees-Minutes-Seconds (DMS)—> Decimal Degrees : EQ# Positive : 0Sx< 3777777777 D | Negative : 4000000000 X £7777777777
P Zifatk,. LUTO;EEHE /| The following operation range after the conversion.
1520;‘55,1%%6_7: DEEE “E)E9 (e = ~HEX ED#H/ Positive : 0Z X <2540BE3FF  ED¥ / Negative : FDABF41C01< X <FFFFFFFFFF
. (sHiFT) 4orm
123.7516667 ; 100 2 100 00
[ E gé S5 / DATAINPUT \x\<1;<105° [Ex|<1x10 X <1x10 [n|<1x10
# | <5 n=%¥% / n=linteger
= . . 1o # 23 =
10T 19— — E9% / Decimal Degrees—> Degrees-Minutes-Seconds : &5 it 35 X n#0
a nEL N0 g2 lE0N qyqgto0
2.3456 — 2°20'44.16” 3| (4 (SHIFT| dosu 2000'44716 zﬁ 2 |8 ES——]
PHEADEE D ple e o
S3 | x 0= — <W«

5 . )L—b . JEER / Powers , Roots , Hyperbolic Functions :

4. [LEETE / Applied Calculations

BR - TASEEE / Electricity - Integrating Circuit Problem :

2L YFEANAED. t=56ms TOIVFIHD
BEVcEHELET,

[ EN |

Obtain the voltage Vc across the capacitor at t=56ms
after the switch is turned on.

i)
sw
vi
100V R=15000
C=50uF Ve

* EELCEE T 2188, BENRES NG, BENAET LRI ENBOFT. ().,
X", x! \nPr . nCr. EDHEIC, A TERL CGHHENRITEINZBEBEETT .
En * In the case of consecutive calculations, errors are cumulative. This is also true

when internal consecutive calculations are performed; for example, (xX’) ,x'¥, x! ,
nPr, nCr, etc. In this case, the cumulative data may become large.
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